Math101 -- Quiz#7&8 Key solution Name:

Serial No:
Solve and then select the correct answer:

1 The sum of the absolute maximum and the absolute minimum values of the function
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Slx) =2cosx + 2 cos? z, 5 <z< 2T 1s
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Given that f(r) = —=——— , then the number of critical points of f is
20+ 1
(a) 2
(b) 4

(d) 3
(e) 0
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Ifcosh x = g,and x > 0, thecschx =
(a)2
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(d)

(e) None of the above.
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The function f(x) = 5z* — 32° has

(a) 2 local extrema and one point of inflection
- (b) 2 local extrema and 3 points of inflection
(¢) 3 critical points and no points of inflection
(d) 2 local extrema and 2 points of inflection
(e) 2 critical points and 3 points of inflection

>. Let f(x) = cos®(x) + sin(x), 0 < x < . Which one of the following statements is TRUE:
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(c) fis increasing on the interval 3

(d) f1is decreasing on the interval
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(e) fis decreasing on the interval
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If f(x) = tanh(1 + e?¥), then 2l
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(e) None of the above.
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The value(s) of ¢ satisfying the conclusion of the Mean Value Theorem for

1
the function f(x) = x + —, on the interval [% 2] is (are)
xr

(a) % and g
mm) (b) 1
1
(c) 1 and 1
(d) =1 and 1
7
(e) 1 and 1

The number of the critical points of f(x) = |2% — 42| is
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If M and m are the absolute maximum and absolute minimum values respectively of

. 1
the function f(z) = 2% — 322 + 1, -5 <z<4, then M —m=

(a) 18
(b) 10
(c) 16




10. " Let f(z) = xInz. Then the graph of f(zx) is

(a) increasing on(e, oc)and decreasing on (0, €)
(b) increasing on (0, oc)

(c) deccreasing on (0, 00)
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(d) increasing on (U? —) and decreasing on (—, oo)
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mmm) (e) increasing on (—, oo) and decreasing on (O, —)
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11 If (., ) is the point of inflection of the curve f(z) =tanz — 4z forx € (_Tﬁ L

then 2c0v — 3+ 2
(a) 0
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12. Suppose that f'(z) < 1 for 1 < 2 < 4. Then the largest possible value of

f4) —f1)is
(a) 8
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